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ST. JOSEPH’S COLLEGE (AUTONOMOUS), BENGALURU -27
B.A. – III SEMESTER
SEMESTER EXAMINATION: OCTOBER 2022
(Examination conducted in December 2022)
ECA 3222- MATHEMATICAL METHODS FOR ECONOMICS-III
(Kindly note: Calculators/Scientific calculators are permitted)


Time: 2 Hours								    Max Marks: 60
This paper contains 2 printed pages and 3 parts

PART – A 
I. Answer any 10 questions out of the given 11 questions            [10 x 3 = 30]
1. [bookmark: _Hlk116584399]In the following demand function D = 14 – 3P, mention the value of maximum quantity that is demanded and meaning of slope.

2. [bookmark: _Hlk116584851]Mention the 3 types of functions with examples 

3. Compute marginal Utilities of X for the total Utility function, U = 5XY – Y2

4. If AR is Rs 15 and elasticity is 3 find MR.

5. Find µ, elasticity if AR is Rs 20 and MR is 10 

6. If MR is Rs 50 and Price elasticity of Demand is 2, find AR.

7. Find out  for the production function q = 24KL – 10L2- 8 K2

8. [bookmark: _Hlk116589341]Given the demand and supply function for the market as D = a1 – b1P and                   find the equilibrium price. 
S = - a + bp
9. Given the Revenue function R = 80Q – 2Q2-15, find the AR and MR.

10. If the Marginal Revenue function R = 9 – 4X2 find the total revenue 

11. [bookmark: _Hlk116672185]Find the determinant if A = 

PART – B
II.    Answer any 3 questions out of the given 4 questions                [3 x 5 = 15]
12. Find out the MU of x and y at x = 3 and y = 2 for the total utility function                          U = 5X2+2XY3+3X+9Y

13. [bookmark: _Hlk116674299]For the total utility function U = (X+7) (3X +9Y), find the MU of x and y at x=1 and        y =2

14. [bookmark: _Hlk116674468]Find the elasticity od demand at p= 2 if the demand function is Q = 30 – 5P -P2

15. [bookmark: _Hlk116674932]Compute Marginal productivity of labour at k = 1 and L = 2 for the production function X= 3KL2 +4K2L +2L +2K 

PART – C
III.      Answer any 1 question out of the given 2 questions                 [1x 15 = 15]
16. [bookmark: _Hlk116710544]Find the equilibrium values of price and quantity from the following behavioural equations D = 20 - 25P and S = - 60 + 5P and also find the change in the equilibrium values when a tax of Rs 2/-unit is levied and subsidy of 1 /- rupee is given. [ only numerical solution, not graphical.]

17. Given the Revenue [R] and cost [C] functions for a firm R = 20 Q -Q2 and                      C = Q2 + 8Q +2, find the equilibrium values of quantity, price, TR, TC and total profit  [ π].
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